Math 099- Fall 2009 - Test 2

Instructor: Dr. Francesco Strazzullo Name ll{b >/

Instructions. Only calculators are allowed on this examination. Point values of ecach problem arc indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. (20pts) What is the volume of an athletic shoe box 51 inches in hight, 6 inches wide, and lo— inches
long? How many cubic feet would it take to store 2000 such boxes?
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2. (20pts) The total cost for a credit card call is $ 0.13 per minute for the first two minutes and $ 0.18 for
cach additional minute. Write two equations with inputs for each described with an incquality. Define

your variables so y depends on z.
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3. (20pts) A pressure washer costs $25 for the first 3 hours and $12 per additional hour. Write a piccewise-
defined model for the total cost. What is the total hour rented, z, if the total cost is $737

X 18 T HUeS OF RiaTAL A~D Y 18 THe PIAL (ST 1~ POLLAR

75 , 0<xe? 5

7= 25 + lz(x’fﬂ) )y X>3 5

Sivee F3 > 25 ;e REATAL HAS REEY TOR Mefe ™A~ D Haks . WE
MUST SE THE MeDIL Foh R 2 >.

S 4% 36 =D 34 TIRX 4 X2 7
13= 25+ 12 (X-3) = 48 - e OILUTEED
“%7 B
Tuz CRESURE WASIER WAS DiEw REVED Fof  # HWRS . .

1

d



IND)

4. (15pts) Solve the equation 5x —3 =4(2+ z) — 3. _ ‘ i
£2 + 2 =’D§X«Lt'2ftrx

DigTRBITE -4 X -4 X

TN
\ \

?«D\LX: 8 |

5. In New-York City, a U-Haul 24-foot moving truck costs $19.95 plus $1.39 per mile for 6 hours. The
same truck from Budget costs $39.95 plus $.69 per mile

(a) (10pts) For each agency, write an equation described the total cost.
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(b) (10pts) How many miles does one need to drive so that the two costs arc the same?
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(c) (10pts) How many miles does one need to drive in order for the Budget truck to be less expensive
than the U-Haul?
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6. (15pts) Give the interval which is the solution set for the inequality 37 > 5+ 2z.
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